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200m M35 6| 25.09| -1.2| 28 2017 |dEE s 35 | B 19| 8
200m M35 4| 2425 -12| 26 1118 |#&Eim #—23 35 | WHB 819 9
200m M30 3| 24.02| -0.8] 28 1670 |hAt  BE 34 | FE 8 (10| 2
200m M30 1| 2229 -08] 26 0923 |&A IR 33 | 4B KREH % 10| 3
200m M30 41 2439| -0.8| 26 1189 |EH FEX 33 | J=#B 8 10| 4
200m M30 2| 23.92| -08] 22 1315 (@A &KX 32 | B4 8 10| 5
200m M30 5| 25.98| -0.8] 22 1197 |3RER  sAME 32 | B4 % 10| 6
200m M25 1| 23.78] -0.8] 22 4324 |\RE thE& 29 | =0 8 10| 7
200m W65 3| 39.07|-0.33| 26 0310 |/NER BT 68 | THB 7 |1 1
200m W65 1| 34.99|-0.33| 26 0592 |B/Il EF 67 | THB 7|1 2
200m W65 2| 37.31/-0.33] 25 0882 |#O =7 67 | #E 7|1 3
200m W55 2| 3056/-0.33] 23 0884 |EIA =& 59 | = REFH 7| 1| 4
200m W55 1| 28.11]-033| 27 1580 |REER® 57 56 | AR BAH A= Z|1| 5
200m W50 2| 31.74|-0.33| 26 0844 |HhE ET 52 | W#EB Z|1]| 6
200m W50 1| 30.17/-0.33] 23 0804 |#M BATF 52 | = Z | 1| 7
200m W45 1| 32.83/-0.33] 23 0405 |l FIE 49 | = Z | 1| 8
200m W45 DNS 26 0817 |B#% #&T 49 | THER Z |1 9
200m W40 1| 27.39] +0.6| 25 1002 |f52 A0 41 | B 7|2 1
200m W35 1| 27.80| +0.6] 26 0966 |fE4AR K= 37 | REB 7|2 2
200m W30 3|  28.06| +0.6| 28 1684 |AM EHEM 33| RE Z |2 3
200m W30 1| 2558| +0.6| 27 1626 |%H K& 31 | KBk AEH 72| 4
200m W30 2| 2580 +0.6| 22 1316 |#vd =4 30 | BN REH Z|2| 5
200m W30 4| 29.44| +0.6| 22 1408 (88K HAE 30 | =N Z |2 6
400m M80 DNS 26 0350 |&K &= 84 | T#B 81| 2
400m M70 1| 1.29.34 27 2147 |AR B= 70 | RBR 11| 3
400m M65 DNS 34 0497 |B1E FIWA 69 | LB B 1| 4
400m M65 2| 1.15.87 26 0940 |&£F7 & 68 | WHAB 81| 5
400m M65 1| 1.11.69 27 1595 |&R ElE 68 | Kk B 11| 6
400m M65 3| 1.16.60 29 0444 |EHE =HiT 66 | = g1 7
400m M60 DNS 26 0950 |$HkM ZEX 64 | WHEB 812 2
400m M60 1| 1.15.54 27 1808 |ZEH R 62 | KBk g2 3
400m M60 DNS 27 1684 |LkiB #i— 60 | Kk 82| 4
400m M55 2| 1.08.22 25 1072 |hig 58 | & B |2 5
400m M55 DNS 27 0728 |;t% 23k 57 | Kk B 12| 6
400m M55 3| 1.14.14 22 1253 | KF fE— 55 | AN g2 7
400m M55 1| 1.02.91 25 0732 |BA 57 55 | %8 B 12| 8
400m M50 2| 1.03.35 25 1087 |HIE F* 53 | #& 8 13| 2
400m M50 DNS 29 0496 |K# = 53 | = 8 13| 3
400m M50 DNS 26 0915 |du)Il 2 52 | W#B 83| 4
400m M50 3| 1.03.74 26 1111 | &K 50 | W#B 8 13| 5
400m M50 1| 59.43 26 0910 [iBH #X 50 | W#B 8 13| 6
400m M50 4| 1.13.63 26 0876 |EEM 50 | W#B 8 13| 7
400m M45 4] 5932 27 1672 |1 &KX 49 | KR B 14 1
400m M45 5| 1.00.62 25 1081 |dbJII A0 48 | #wE 84| 2
400m M45 2| 5856 22 1300 |EAR BEHR 47 | BH 8 14| 3
400m M45 1| 54.22 27 2252 | K17 IEE 46 | KB =HT B4 4
400m M45 3| 59.13 27 2091 |HF% RE 45 | KB 2|4 5
400m M40 3| 54.95 25 1092 |ZH ®BA 42 | wRr B|14] 6
400m M40 4| 56.78 26 0875 |FFH #®A 41 | =#B 84| 7
400m M40 1| 51.70 22 0998 |&HE Etb 40 | EH R 2|4 8
400m M40 2| 53.09 28 1262 Ak et 40 | FE B 4] 9
400m M35 DNS 26 0787 |EMA & 38 | B 85| 2
400m M35 2| 57.82 27 2195 |JIl& #®A 37 | KB B |5 3
400m M35 DNS 26 1180 |=i@ EX 36 | W=D B |5| 4
400m M35 DNS 28 2017 |dtEE A 35 | KE B |5 5




SIER | 77X |lEfz| R£H | BAE |EES | ERES K4 i | B4 WS MR R L —>
400m M35 1| 52.63 26 1118 |#&Eim #—23 35 | WHB B 15| 6
400m M30 1| 5377 26 1189 |AME =K 33 | W#B B |5 7
400m M30 2| 58.14 26 1011 |@AfK = 33 | 4B 8|5 8
400m W65 1| 1.23.32 25 0882 |#A * 67 | WE Z 1| 2
400m W50 1| 1.39.40 23 0662 |%Mm HER 53 | = Z 1| 3
400m W50 DNS 26 1099 |#0EE #E 52 | WHB Z | 1| 4
400m W30 1| 1.05.18 28 1684 |AM EEEM 33 | & R Z|1| 5
800m M80 DNS 26 0350 |AE ‘= 84 | W g1 2
800m M80 1| 3.17.61 26 0243 |Zih A— 81 | =#B g 11| 3
800m M70 1| 2.48.93 27 1450 |&® & 71 | KB B 1| 4
800m M70 2| 3.29.28 26 0863 |KT HE4& 71 | =EB B 11| 5
800m M65 2| 3.02.90 34 0497 |B#E FI8H 69 | LB B 11| 6
800m M65 1| 2.48.28 28 1189 |&® & 66 | fTE g1 7
800m M60 2| 2.32.99 28 1890 |MaA —tb 63 | RE B 11| 8
800m M60 1| 2.30.33 26 0499 |/ %98H 62 | WEB B 11| 9
800m M55 3| 2.40.90 25 1072 |hig  JE 58 | #E B2 2
800m M55 4] 24231 26 1177 |HhE BA 58 | W#EB g12] 3
800m M55 1| 2.32.86 26 1154 |B\L @ 57 | W#B B 2| 4
800m M55 2| 2.35.69 25 0732 |E4& = 55 | #E B 12| 5
800m M50 1| 2.20.45 26 0703 |# TTE 54 | WEB B 12| 6
800m M50 DNS 26 1194 |AN B 51 | R#B g2 7
800m M50 2.22.01 28 1624 | KK BUE 50 | EJE B 12| 8
800m M45 2.15.74 28 1381 |#lF {RK 49 | K 8 (3] 1
800m M45 2.13.72 26 0577 |BME M@ 49 | THER 83| 2
800m M45 DSQ 27 1816 |m #a% 48 | KBR 8 13| 3
800m M45 4] 2.16.92 25 1081 |[du)il #E 48 | #wE B 3| 4
800m M45 DNS 26 0871 |#HE &M 46 | ZER B3| 5
800m M45 1| 2.03.98 27 2252 | K%T B 46 | KBR KREHT B3] 6
800m M40 1| 2.10.44 28 2041 |#MA Bt 43 | K 83| 7
800m M40 2| 2.2861 26 1201 |@ER fEKEB 41 | =#B 83| 8
800m M35 DNS 27 2261 |FH TBE 35 | KBk 8 13| 9
800m W65 1| 4.01.97 28 2034 |BM BT 69 | RE Z|1| 3
800m W40 1| 2.38.70 26 0948 |l & 42 | =EB 7| 1| 4
800m W35 1| 2.33.88 26 0842 |&1E BT 37 | =H#B FEBHT Z |1 5
1500m  |M80 DNS 26 0243 |Zlh A— 81 | =¥ 8|1 1
1500m  |M75 1| 7.39.87 26 0659 |)Il%  REEE 75 | WD B |1 2
1500m  |M70 3| 6.41.28 26 1163 |MN EfE 72 | WHEB g 11| 3
1500m  |M70 DNS 27 1450 |&® T 71| KBk 81| 4
1500m  |M70 2| 6.29.26 27 1572 |BhH &F 71| KBk B 11| 5
1500m  |M70 1| 5.47.63 28 1026 |Bi EE 70 | FE B 11| 6
1500m  |M65 1| 6.09.87 25 0085 |tk = 69 | WE g 11| 7
1500m  |M65 DNS 28 1189 |&% & 66 | FE B 11| 8
1500m  |M60 1| 5.25.72 28 1890 |MA —1B 63 | FE 11| 9
1500m  |M55 2| 5.51.49 25 1072 |hig  FE 58 | WE 21| 10
1500m  |M55 1| 5.15.22 26 1154 (B # 57 | B (1] 11
1500m  |M50 DNS 28 1297 |/XH MR 54 | RE 81| 12
1500m  |M50 2| 4.57.69 26 0703 |#h TTE 54 | RHB 8 (1] 13
1500m  |M50 1| 4.55.16 28 2064 | Efy f5E 53 | E B 11| 14
1500m  |M50 4| 5.11.05 26 0823 |7%HE FiE 51 | R4 B 1| 15
1500m  |M50 DNS 27 2268 |E¥HE EPA 50 | KBR £ 11| 16
1500m  |M50 3| 5.05.67 26 1111 | &R’ 50 | =B g (1] 17
1500m  |M50 5| 5.25.91 26 0876 |EEME 50 | =B g 11| 18
1500m  |M45 3| 5.17.05 26 0845 |B&F&F &EF 49 | =#B g (1] 19
1500m  |M45 4| 553.13 27 1816 |Fg s 48 | KR g 11| 20
1500m  |M45 DNF 25 1081 |du)il FE 48 | HH 21| 21
1500m  |M45 2| 5.02.45 26 0868 |FiE Ei 48 | =EB 21| 22
1500m  |M45 1| 4.50.59 26 1212 |k® BEB— 47 | =EB 21| 23




SIER | 77X |lEfz| R£H | BAE |EES | ERES K4 i | B4 WS MR R L —>
1500m  |M40 1| 4.25.06 26 1198 |fBX && 42 | F=#B B |1] 24
1500m  |M40 DNS 25 1050 |[kEBF BE 41 | HHE B 1| 25
1500m M35 1| 5.33.16 26 1196 |/hgx {54 38 | W#B B|1] 26
1500m  |M25 1| 4.26.23 28 2051 |#MHF —& 28 | s (1| 27
1500m |W70 1| 6.33.70 26 0468 |HEE ET 71| D FEBHT K=#H Z |1 1
1500m |W65 1| 7.46.19 28 2034 |EM BT 69 | fE Z 1| 2
1500m  |W45 1| 6.33.46 26 1217 |80 ®|E 45 | F#B 7|1 3
1500m  |W35 1| 5.21.52 26 0842 |&1E AT 37 | =B 7| 1| 4
3000m  |M80 DNS 26 0094 |f&E M= 82 | W 2|1 1
3000m  |M70 2(14.18.98 26 1163 | IE{E 72 | WHEB g1 2
3000m  |M70 DNS 26 0863 |KT HE4& 71 | =EB g 11| 3
3000m  |M70 1]12.13.89 28 1026 |@3I IEZE 70 | fE AR B 1| 4
3000m  |M65 DNS 26 1127 |RH FX 69 | H#B 81| 5
3000m  |M65 1/13.34.48 25 0085 |HE &EX 69 | #E B 11| 6
3000m  |M60 1]18.40.26 26 1209 |d)Il IEfE 63 | WEB g1 7
3000m  |M55 2(11.14.06 26 0361 |HH & 59 | W#B B 11| 8
3000m  |M55 1]10.29.87 20 0442 |1LuA  #554 56 | f&@H B 11| 9
3000m  |M55 DNS 26 0852 |35 BT 55 | W#EB g 1| 10
3000m  |M50 3[11.13.19 27 2047 | 5% 54 | KB (1] 11
3000m  |M50 1/10.39.42 26 0456 |Z%H F5A 54 | WEB B [1] 12
3000m  |M50 2(11.08.34 26 0823 |#&xM HEE 51 | R#B g (1] 13
3000m  |M45 3]12.18.17 27 1816 |m #a% 48 | KBR 81| 14
3000m  |M45 2110.22.72 26 1212 |k5 B— 47 | R g (1] 15
3000m  |M45 1/10.15.33 26 0871 |#HE &M 46 | ZER 81| 16
3000m  |M40 DNS 25 1050 |k® BUE 41 | =B g (1] 17
3000m |W70 1/14.21.52 26 0468 |MHE ET 71 | B TR %z |1 1
3000m  |W55 DNS 26 0843 |JIldf =B 56 | REB Z |1 2
3000m  |W50 DNS 26 0752 |—#& FEF 51 | B Z|1| 3
3000m  |W45 1/13.37.32 26 1214 Rl &HE 45 | =EB 7| 1| 4
3000m  |W40 1/10.51.05 26 0898 XXM £ 42 | =EB Z|1| 5
3000m |W35 1/11.16.36 26 0842 |B1E BT 37 | B £t 7 |1]| 6
5000m  |M80 1]26.27.72 26 0681 |BEM #BEA 80 | W#B £ B |1 1
5000m  |M70 1]21.02.90 28 1026 |Bi IEE 70 | RE 81| 2
5000m  |M65 1/27.01.13 26 1037 |ZEE == 66 | WD B |1 3
5000m  [M60 1/22.08.31 26 1182 |FH EAN 64 | WD B |1 4
5000m  |M60 2133.06.62 26 1209 |H)Il EfE 63 | W=#B B 11| 5
5000m  |M55 1/18.38.89 28 0750 |&EH/ = 59 | RJE B 11| 6
5000m  |M55 2(21.30.53 26 0658 |#E &= 55 | B 811 7
5000m  |M50 1/18.11.66 25 0666 |[1LA fEx 54 | %8 81| 8
5000m  |M50 2]18.14.55 26 1216 |l B&3A 51 | W#B 811 9
5000m  |M50 4120.36.01 27 2268 (B¢ KA 50 | KBR g 11| 10
5000m  |M50 5|36.51.77 28 1998 |M9E &= 50 | R 21l11] 11
5000m  |M50 3[19.55.38 26 1215 |MF BEIE 50 | W#B 81| 12
5000m  |M25 1/16.37.72 28 2051 |#MF —=% 28 | K KEH B 1| 13
5000m  |[M25 2018.29.21 28 1773 |18k & 27 | RE 81| 14
5000m  |W45 1]20.55.79 26 1136 |hnpE === 49 | =#B 7 | 1| 15
5000m  |W40 1|22.28.85 26 1202 |A@AR BF 40 | =EB Z|1| 16
80mH M80 1| 17.16| -1.0/ 26 0039 |#E%F 5LMR 80 | 4B REBH K=H 21 3
80mH M70 1| 14.14] -1.0, 20 0495 Mt & 70 | & =00 21 5
80mH  |W60 DNS 41 0630 |#A HEE 60 | & Z | 1| 2
80mH  |W55 1| 1432 +1.4| 33 0330 |&%® ®m&Ef 59 | R =00 Z |1 4
80mH  |W55 2| 15.18| +1.4| 25 0312 | KT ¥ 55 | #&E Z | 1| 5
80mH  |W50 1| 16.20| +1.4| 25 0883 |Huil  fEfR 50 | @B =00 Z |1 6
80mH  [W40 DNS 25 0806 |BFH WIH | 44 | #B Z | 2| 5
100mH  |M65 2| 1966 -1.7| 28 0212 |KH @ 65 | fLE B|1] 3
100mH  |M65 1| 1791} -1.7| 35 0168 |I&EHE & 65 | LA =0 211 4
100mH  |M60 DNS 26 0560 |E = 60 | W=D Bl1] 5




SIER | 77X |lEfz| R£H | BAE |EES | ERES K4 i | B4 WS MR R L —>
100mH  |M55 DNS 27 0728 |ith¥ E3h 57 | KB Bl2] 2
100mH  |M50 DNS 21 1435 |{E4 K ## 53 | B B2 3
100mH  |M50 DNS 26 0726 |1 EEBA 53 | B B 12| 4
100mH  |M50 DNS 28 1204 |fhE E—ER 51 | fEE B2 5
100mH  |M50 1| 1474] 413 25 0821 |¥M@ % 50 | @B B2 6
110mH  |M40 2| 19.43| +1.1| 27 1367 |F#k IERE 42 | KR Bl1] 3
110mH  |M40 1| 16.16] +1.1| 26 0875 |EFH A 41 | =#B FERHT B 1| 4
110mH M35 1| 16.35| +1.1| 27 2195 |Jll& A 37 | KB B 11| 5
200mH  |M80 1| 4222| 00| 26 0029 |A\A % 83 | m#B B 11| 5
300mH  |M70 DNS 27 0228 |Bf = 74 | KB g 11| 3
300mH  |M65 DNS 25 0568 |KI R— 68 | WE g 12| 3
300mH  |M65 1| 1.00.24 29 0444 |EHE =17 66 | = B 2| 4
300mH  |M60 DNS 26 0950 |#kE X 64 | THB B 12| 5
300mH  |M60 DNS 26 0560 |mih &= 60 | HHB B 12| 6
300mH  |W60 DNS 28 1099 |ARM BT 60 | EE Z|1| 3
400mH  |M55 DNS 27 0728 |it% 3L 57 | KB g1 2
400mH  |M55 1| 1.01.36 36 0338 |tkBx —HA 56 | &I REFH g 11| 3
400mH  |M55 2| 1.12.08 10 0726 |XE B 55 | B B 1| 4
400mH  |M50 1| 1.05.57 26 0531 (1@ %= 54 | WEB B 11| 5
400mH  |M50 DNS 26 0726 | EE3L 53 | W#B B 11| 6
400mH  |M50 2| 1.11.13 28 1204 |fhHE E—E] 51 | R g1 7
400mH  |M45 2| 1.04.24 27 1536 |¥ =& 48 | KBR g2 3
400mH  |M45 1| 59.51 25 0856 |4t =H 45 | HE KEHT 82| 4
400mH  |M40 1| 56.16 28 1664 |lLE BF 40 | K AEH 812 5
400mH  |M40 DNS 22 0998 |AM Et 40 | B4 812 6
400mH  |W40 1| 1.12.50 25 1002 (&2 #x 41 | HE KEHT 7 |1| 3
400mH  |W30 1| 1.06.14 19 0699 |BMA ®ET 30 | A SRR Z|1| 4
3000mSC|M55 1/11.32.84 21 1729 |3dA #2283 58 | E%ME £t B |1 1
3000mSC|M55 DNS 27 1048 |F1®F 15— 55 | KBk BFl1] 2
3000mSC|M50 1/11.31.00 26 0531 (M@ % 54 | ZEB TESHT KRR 11| 3
3000mSC|M50 3[12.58.80 28 1853 [k e 53 | RE B 1| 4
3000mSC|M50 2]11.52.97 26 1047 |TE #= 52 | B TESHT RRF 81| 5
3000mSC|M45 2(13.40.40 26 0845 |/A & 49 | =#B SRR B 11| 6
3000mSC|M45 1/12.34.72 28 0927 |X% #H5A 49 | K E - IE&r B 1 7
3000mSC|M40 1/11.25.83 26 0893 |51 e 43 | D REBH KH 21 8
3000mSC|M40 2(12.46.24 26 1044 |TH % 41 | =#B 811 9
3000mSC|M30 1/11.46.65 28 2025 |WHE XER 31 | KB RABIFREHR B 1] 10
3000mSC|M25 1/12.45.52 28 2051 |MH —% 28 | FEE RHBIFREHR B 11 11
3000mSC|M-24 1/10.03.53 28 2066 [Tl fE 20 | &E 81| 12
EZB  |[M70 2 1.25 28 1540 |ER #iE 73| HKE RKexA B |1 8
EBH  [M70 1 1.25 26 0706 |FZ@ K 70 | WEB RERA KEZA B |1 9
EBH  |[M65 4 1.25 26 0590 |=K& B 66 | WD 21| 10
ESB  |M65 1 1.35 26 0862 |RiL H— 66 | W=HB (1] 11
EBH  |[M65 2 1.35 28 0417 |HfRX HE 65 | fLEE 21| 12
ESB  |M65 3 1.25 28 0212 | KA = 65 | FE 8 (1] 13
ESB  [M60 1 1.30 26 0461 |## & 62 | W=HB 81| 14
EBB  [M55 1 1.62 40 0860 |BAF IE 57 | & KEH B 1| 15
FESBE M50 5 1.25 26 0337 |@B3 Ih= 54 | RHB £ 11| 16
EBBk (M50 DNS 21 1435 |[f£4 K %M 53 | #fE 21| 17
EEBk (M50 1 1.70 29 0338 |B&f8 —5h 52 | R =00 B 1] 18
FESBE M50 3 1.50 29 0420 |4t B2 51 | &R g (1] 19
EBBk (M50 4 1.45 28 1481 [#F 51 | &R B 1] 20
EmBk (M50 2 1.50 27 2201 |AE #Ith 50 | KBR 211 21
EEBk  [M45 1 1.45 28 1843 |[HR (= 49 | EE 21| 22
EmBk  |[M45 NM 26 0880 |&@A& K 48 | 4B B 1| 23
EEBk (M40 DNS 27 1867 |MEE EN 41 | KB 21| 24
EEBk (M40 NM 27 2069 |IRHF = 40 | KB B 1| 25




SIER | 77X |lEfz| R£H | BAE |EES | ERES K4 i | B4 WS MR R L —>
EFEbk M35 1 1.75 25 0959 |EME Mt 38 | w®E Bl1] 26
EmBk M35 2 1.55 27 2261 |FH BE 35 | KB B 1| 27
EmBk  |[M30 1 1.70 26 1167 |BR EMH 34 | =B 21| 28
EFEbk  [M30 2 1.60 26 1133 |&R 88 30 | W#B B 1] 29
EFEbk  |W6b NM 26 0798 |KHE HEF 67 | THB %z |1 1
EFEbk (W60 DNS 41 0630 |f#\A EE 60 | &8 Z 1| 2
ESBE W55 1 1.18 25 0312 |KI B¥F 55 | B 7|1 3
ESBE (W50 1 1.12 25 0883 |Hil fER 50 | @B 7| 1| 4
ESBE  |W4s 1 1.41 26 0719 |&%E 7T 48 | T#B Z|1| 5
ESBE  |W4s DNS 27 2279 |@®A = 45 | KR Z|1| 6
ESBE W40 1 1.32 26 0933 |{£BE = 44 | TEB 7|1 7
EEP |M80 NM 29 0519 |NER fRIE 80 | & g1 2
S [MT75 1 2.20 26 0676 |AAL IEX 75 | WHB g 11| 3
Sk |M65 1 2.80 27 1586 |&EH F& 67 | KB B 1| 4
ESk  |M65 NM 31 0784 |migE = 65 | BH B 11| 5
ES  |[M60 NM 27 0674 |A)Il #fE 64 | KB B 11| 6
ESk  |[M60 1 3.30 26 0461 |F#H &7 62 | FEB FHBHT K#T g1 7
Sk |[M55 1 3.91 37 0326 |=F 55 | & BAH A= B 11| 8
ESEk M50 1 351 26 0692 | A4 ffst 50 | FEB FHERHT B 11| 9
Sk |[M45 DNS 28 1871 |EH RE 47 | KR g 1| 10
EE (M40 1 2.90 27 1367 |f#k IERE 42 | KBR (1] 11
ESH M35 DNS 26 1007 |AAX =& 35 | R#B g [1] 12
EE  [M30 1 4.50 25 1036 |B)II &R 32 | #B g (1] 13
EEk (W35 NM 37 0704 |FE Efe 38 | &S 7 |1 1
Ei@BE  |M80 1 3.04| -0.1] 26 0029 |AME % 83 | m# 811 9
ENBBE  [MT75 1 2.18| -0.6| 26 1144 |fERE 788 78 | B 81| 10
EiI@BE  |[M70 2 4.07| +0.7| 28 1540 |ER #HE 73| RE (1] 11
EN@BE  [M70 1 4.08| +0.6| 26 0167 |f&EM #* 71 | EB B [1] 12
ENBBE  |[M65 2 4.07| +0.6| 26 0590 |=AK F 66 | WHAB 8 (1] 13
EMEP  |M65 DNS 27 0542 |fk4Ak #z 66 | KB 21| 14
ENBBE  |[M65 1 4.16| -0.1] 28 0212 |KBE = 65 | FE 8 [1] 15
ENBBE  |M60 1 4.83| +0.7| 27 2139 |BEF RS 60 | KBk 81| 16
FEMEP M55 2 5.32| +2.4| 25 1056 |l EBE 59 | & g/ 1| 17
FEiEBE M55 4 3.38| +0.8| 26 0721 |dkBrx &EA 58 | B 81| 18
FEME M55 1 5.34| +0.6| 34 0568 |Bf B 57 | L& 21| 19
FEfEBE M55 3 5.29| +0.7| 40 0860 |BF4f IE 57 | & 81| 20
FEMEP M50 1 5.44| -0.1| 25 0598 |BR & 51 | #& 211 21
FEfEEE (M50 2 5.08| +0.3| 37 0399 |ik&E ‘A 50 | &8 21| 22
FEiEBE  [M45 3 550| -0.1| 25 0758 |FH #= 49 | HE g [1] 23
FEiEBE  [M45 4 497| +0.2| 22 1009 |Fkp ARHL 49 | BHI B 1] 24
FEMEBE  |M45 5 494| 00| 26 0881 |F& —% 49 | REB 21| 25
FEiEBE  [M45 2 6.37| +0.4| 23 0433 |HA Rtb 45 | = 8 11| 26
FEMEBE  |M45 1 6.45| +0.5| 23 0921 |iLd BIE 45 | = g 1| 27
FEMEP M40 2 558| +0.5| 27 1523 =)l FH 43 | KB 21| 28
FEEEE (M40 DNS 26 1204 |#w)II BE— 42 | RED 21| 29
FEEEE (M40 3 5.41| +0.8| 30 1418 ||A E— 42 | gL 21| 30
FEMEP M40 1 6.75| -0.2| 27 1566 |FE)ll  KE 40 | KBR KEH B 1] 31
FEEBE M35 1 6.49| -0.1| 26 1181 |REE B 37 | R4 FERHT B 1| 32
FEEBE M35 2 481| +0.3| 26 1108 |EH =t 36 | WD 21| 33
FEMERE M35 3 4.44| +09| 26 1180 |=A EX 36 | R4D B 1] 34
FEERE  [M30 DNS 26 1167 |BR E#A 34 | 4B 21| 35
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